IN-0006886



12/26/2023 09:00 AM | Delivery 12/27/2023 09:00 AM | Event Date 12/28/2023 09:00 AM | Strike - TBD P0:

Shipping Address: Waldorf Astoria Monarch Beach 1 Monarch Beach Resort N, Dana Point, CA 92629

Point of Contact : Perri Tabak #323.228.4191 PARDI PLANNING AND DESING LLC

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Club 19th Loan	- Bedekan				
	Lacer cut Wall 12'x 50"H Painted in TBD	1	\$3,450.00	Т	\$3,450.00
	Chandeliers - York - White Flowers 43" To Be hung on truss -Provided by Client - Rushing Color TBD	2	\$920.00	Т	\$1,840.00
		Total Club 19th Loan - Bedekan			\$5,290.00
Ceremony Area					
	Truss Covers to Cover Structure holding Chandeliers OPtion 1	7	\$172.50	Т	\$1,207.5
	Carpet 10 wide to crate an Isle 10'x 90' Long	1	\$1,725.00	Т	\$1,725.00
	Chandeliers - York - White Flowers 43" 43"W X 44"H - 46LBS - 300 Watts	7	\$920.00	Т	\$6,440.0
	Lacer cut Panels to Create a Baffle Behind the Chuppah Self Standing	1	\$4,025.00	Т	\$4,025.00
	To Cover Aprox 18' Diam x 10'H Color TBD				
			Total Ceremony A	rea	\$13,397.50
Foyer to Pacific	Ballroom				
	Garden Bars - Jardin Du Champ Elysees - Hedge Round 12' Laser Cut Front With Flowers and Wood Top In Off white 12'Diam x 43"H	1	\$2,875.00	Т	\$2,875.00
	Lacer cut front and Wood Top to Wrap the Bars Color TBD	1	\$2,875.00	Т	\$2,875.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Off White 4'2"D x 7'2"H - Color Upon Request	1	\$322.00	Т	\$322.00
	Accent Tables - Capitola - Metal - Matte Sage (4 max) 14-3/4" Round x 22-1/2"H	4	\$115.00	Т	\$460.00

escription		Qtty	Price		Total
	Benches - Nice - Velvet & Fringe - Taupe 55" x 21" x 19"H	6	\$149.50	Т	\$897.00
	Ottomans - Nice - Velvet & Fringe - Taupe 20 âl Irnd x 19âl IH	8	\$103.50	Т	\$828.00
		Total Foyer to Pacific Ballroom			\$8,257.00
cific Ballroom	L				
U U	Dining Table - Florence - Rectangular Wood 10' To be clean and Wrapped with Plastic to keep Kosher = add the date and time when it was wrapped and clean 10'W x 4'L x 31"h	11	\$575.00	Т	\$6,325.00
	Dining Table - Florence - Rectangular Wood 10' To be clean and Wrapped with Plastic to keep Kosher = add the date and time when it was wrapped and clean	1	\$575.00	Т	\$575.00
5777	Dining Chairs - Tuscany - Velvet W/ Wood Legs To Be used on Wood specialty Tables 20"W x 25"L x 38"H	124	\$28.75	Т	\$3,565.00
	Tuscany Dining Chairs In Celadon Green	124	\$40.25	Т	\$4,991.00
	Dining Chairs - Monaco White Wash	54	\$28.75	Т	\$1,552.50
	Dining Chairs - Monaco - White Wash	30	\$28.75	т	\$862.50
m	17⤠¤ ⤠¤X1449⤠¤ ⤠XX338⤠¤ ⤠¤SHEAT DIMENSIONS 18⤠¤ ⤠¤ X19⤠¤ '				
	Dining Chairs - Palermo - White (180 Max) 16"W x 19"L x 36"H - Seat Cushion Cover Color Upon Request	84	\$21.85	Т	\$1,835.40
	Dining Chairs - Monaco - All White (120 max)	84	\$28.75	Т	\$2,415.00
	Dining Chairs - Barcelona - Taupe 17" x 21"x 33"h	245	\$28.75	Т	\$7,043.75
1		Тс	Total Pacific Ballroom		\$29,165.15
tage Back Drop)				
	Panels - Flat Arched Alcove 8'W x 10'H	4	\$690.00	Т	\$2,760.00
	Sconce -Brush Gold Square	8	\$92.00	Т	\$736.00
	Custom Made Shelving for Moving Lights	4	\$1,380.00	Т	\$5,520.00
			Total Stage Back Drop		\$9,016.00

Description		Qtty	Price		Total
Mechitzah					
	Accent Tables - Capitola - Metal - Matte Blush	2	\$138.00	Т	\$276.00
	12-1/2" Round x 14-1/2"H				
	Accent Tables - Capitola - Metal - Matte Grey	2	\$138.00	Т	\$276.00
	Barback - Curved Alcoves W/ Shelves Retrofit to have wheels to be able to roll out of the room. Painted in TBD with Decal on the back Will Be all 6 pieces no Shelving 22'W x 18"L x 10'H	2	\$6,325.00	Т	\$12,650.00
	Wall Paper For Mechitzah on man Side	1	\$2,875.00	Т	\$2,875.00
¥ 	Sconces - Brushed Gold Square 8.26"W x 23.7"H - LED Battery Operated	24	\$92.00	Т	\$2,208.00
	Benches - Nice - Velvet & Fringe - Taupe 55" x 21" x 19"H	4	\$138.00	Т	\$552.00
	Ottomans - Nice - Velvet & Fringe - Taupe 20 âll Irnd x 19âll 대	8	\$103.50	Т	\$828.00
			Total Mechitzah		\$19,665.00
Dance Floor					
	White Dace floor 34' x 60'	1	\$10,580.00	Т	\$10,580.00
	Decal for dance floor this is an estimate till final design is Choose	1	\$2,300.00	Т	\$2,300.00
			Total Dance Fl	oor	\$12,880.00
Services					
	Stand by	4	\$350.00		\$1,400.00
	Labor for dance floor installation and strike	1	\$1,000.00		\$1,000.00
	Discount on Chairs to bring them all to 20\$	1	\$-3,494.40		\$-3,494.40
	Rooms For installers and Manage from 26th to the 28th	6	\$600.00		\$3,600.00
	Rooms for Over Night Crew 27 to 28th	2	\$200.00		\$400.00
	Per-diems from 26-27-28	10	\$198.00		\$1,980.00
	Per-diems from 27 to 28	4	\$132.00		\$528.00
	Per-diems from 27 to 28 Trucking & Gas Sur Charge - TBD	4 8	\$132.00 \$540.00		
					\$4,320.00
	Trucking & Gas Sur Charge - TBD	8	\$540.00		\$528.00 \$4,320.00 \$6,000.00 \$8,400.00

Description	Qtty	Price	Total
Manager on site -	1	\$3,500.00	
Please make checks payable to Revelry, Inc.		Total Products:	\$97,670.65
Note: Driver to delivering and pick upp all invaigns must be pay in full	Total Lal	oor/Services/Misc:	\$36,733.60
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	We	ear & Tear (4.00%):	\$3,906.83
		Packing (2.00%):	\$1,953.41
Notes		Taxes :	\$9,278.71
Service Costs are Subject to Change upon Final Order		Discounts:	(\$0.00)
		Total:	\$149,543.20
		Payments:	(\$0.00)
		Balance:	\$149,543.20